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LINGUISTICS
PAPER —1II

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Metaphorical code-switching occurs when :

(A) there is a change in situation

(B) there is a change of topic
(C) the speaker wants to pass on a secret message
(D) the subject of discussion is literature
2. The sentence we are knowing the reason is ungrammatical because the verb know is :
(A) a transitive verb (B) an intransitive verb
(C) a static verb (D) a dynamic verb
3.  Choose the correct bottom to top sequence from the following :

(A) Phoneme - foot - syllable - word
(B) Phoneme - syllable - foot - word
(C
(

) Syllable - foot - word - phoneme
D) Foot - syllable - word - phoneme

4.  Assertion (A) : The theory of principles and parameters deals with universal linguistic
principles and parameters along which the principles may vary.
Reason (R) : The parameters of variation are restricted to a minimum of two in
number.
(A) Both (A) and (R) are true (B) (A) is true, (R) is false
(C) (A)is false, (R) is true (D) Both (A) and (R) are false
5.  Assertion (A) : By ‘arbitrariness’ in language is meant a lack of natural relation

between the linguistic symbol and its meaning.

Reason (R) : Human language is “arbitrary” because the relation between the sound
or spelling of a word and its meaning is determined by the community
and not by linguistic laws.

(A) Both (A) and (R) are true (B) Both (A) and (R) are false
(C) only (A) is true (D) only (R) is true

J—3108 2
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6.  Match the items in List-I with List-II and select the correct answer from the codes given

below :
List-1 List-11
(a) Language in culture (i) Language planning
(b) Linguistic change (i) Historical Linguistics
(c) Language in mind (iii) Ethnolinguistics
(d) Conscious and deliberate (iv) Psycholinguistics
change of language
Codes
(@ B (o @
(A) @) @) (v) (i)
B) @) @) @ (iv)
© G () i) (i)
D) Gi) ) () ()

7. Match the items in List-I with List-II :

List-1 List-11
(a) Sanskrit Language (i) John Lyons
(b) The Origin and Development (ii) Peter Ladefoged
of the Bengali
(c) Linguistic Semantics (iii) S.K. Chatterji
(d) A Course in Phonetics (iv) T. Burrow
Codes :

(@ O () @
i) (i) (o) (i)
i) (@) (i) (iv)
(iti) (i) (it) (i)
(iv) (i) () (i)

8. Metathesis refers to :

insertion of a sound in a word
deletion of a sound in a word
loss of a sound in a word-final position

interchange of sounds in a word
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10.

11.

12.

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-1 List-11
(a) Syntactic structures (i) Phonemics
(b) B.F. Skinner (i) Motor Phonetics
() R.H. Stetson (iii) Verbal Behaviour
(d) K.L. Pike (iv) Noam Chomsky
Codes

(@ () (o (@)
(A) (iv) (i) (i) ()
(B) (i) (i) () (iv)
Q) (i) @) (o) (i)
(D) @) (i) (i) (iv)

‘Diglossia’ is a term that refers to a situation where :
(A) there is one official language and one foreign language

(B) there are two conflicting languages

(C) there are two distinct codes which show clear-cut functional separation
(

D) people speak two regional dialects for different purposes

Which of the following sequence of morphemes in the word ‘decompositionality” is
correct ?

(A) (de((compose)(tion))al)ity)) (B) (de(compose(tion(al(ity))))
(C) (de((compose(tion)(al(ity))) (D) (de(compose(tion(al))ity)

Which of the following pairs is correctly matched ?

(A) The voicing is delayed - - - ATR

(B) Two units are fused into an unanalyzable shape - - - Clitic

(C) The form of a morpheme depends on individual words - - - Lexically conditioned
(D) The form of the noun depends on its relation with the verb - - - Mood
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gei-1 gelt-11
(a) foefres oy (i) R
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d) Huw. frs (iv) ¥ =T
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(@ b) (© (@
(A) (o) (i) (i) ()
(B) (i) (i) () (iv)
© @G () (o) (i)
(D) () (i) (i) (iv)

10. ‘wHfE fganfyar/ fgumomefuar’ @ g feufa 1 Heha &ran & oo
(A) T T &1 911 © IR gadt foraeht
(B) = o e foreft §
(C) T T3 I & Sk Yehrdl TIBA: ST §
(D) fu=r-forsr weisrT & =ea < &t Siferar &

11. ‘decompositionality’ 389 ¥ec H ®IYHI o HE! STTHH hl TF hITST:
(A) (de((compose)(tion))al)ity)) (B)  (de(compose(tion(al(ity))))
(C)  (de((compose(tion)(al(ity))) (D)  (de(compose(tion(al))ity)

12. Tr=fafea & @ =@ @1 sier 92 gafed &2
A) SR et § - - - T3 3R
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13.

14.

15.

16.

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-1 List-1I
(a) Speech-sounds (i) Semiotics
(b) Signs (i) Phonetics
(c) Verbal signs (iii) Sociolinguistics
(d) Language in society (iv) Linguistics

Codes :
(@ (b)) ( (@
A) (o) (i) (i) (1)
B) (i) (i) () (i)
Q @& @) @) (iv)
D) @) () (iv) (i)
The past tense form went is a case of :
(A) Suppletion (B) Portmanteau morpheme

(C) Zero morpheme (D) Discontinuous morpheme

In the sentence She sent her mother a telegram the verb ‘send’ is :

(A) [+ transitive] and is subcategorized for one argument
(B) [+ transitive] and is subcategorized for three arguments
(C) [-— transitive] and is subcategorized for one argument
(D) [+ transitive] and is subcategorized for two arguments

Which of the following pairs is not correctly matched ?

(A) A stricture between two articulators is less than another stricture in the production
of a speech sound - Double Articulation

(B) There is no distinction between the meanings of two forms which differ in only
one sound - Free Variation

(C) A speech sound acquires the features of an adjacent sound - Assimilation

(D) The syntactic category of a word never changes - Inflectional Affix
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gel-1 geit-11
(a) Ak @A (i)  Gehd form
(b) fo= (i) ¥R
() wnfsZes fog (iii) SRR e fagm
(d) HHESH A (iv) e foE
Fe:

(@ ® (o @@

B) (i) (i) (1) (i)
Q () (i) (i) (iv)
D) (i) (1) (iv) (i)

14. dehlcieh ®9 went :
(A) A 1 ST B | (B) T HYH ®H T
(C) T I &UT 7| (D) T THdq &Y T

15. She sent her mother a telegram 39 a9 H 5531 ‘send” :

(A) [+ HehHeH] T 3R STt Sushife gfeafd ww gfe o emenfia 2

(B) [+ HehH®| T 3R st Iushife yfearfd d= gfwai w emenfia 7
(C) [— ThH®] T 3R 3uaht 3uhife ufearfd wa e W amenfa 7

(D) [+ W] T IR soet Sushife gfeefa <t gfwal w smenfia 2

~—

16. Tr=fafeaa § @ =F @1 Siren vt gafed =&l €2

A) T W % AR | < HRUT % s TR 311 e | Y Eie § - SRd SeR
B) A< &Yl % A H HIE 3T T a1 foH hadl Teh W@ i 4=l &1 - T fasheds
C) Tk T, Tea T i faomand 1fsid X ofar € - |

D) ¥ S AR Hhife Tl sgendt - favfe g
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17. Match the items in List-I with List-II from Jacobson’s system and select the correct
answer from the codes given below :

List-1 List-11
(a) Addressor (i) Metalingual function
(b) Context (i) Conative function
() Medium (iii) Emotive function
(d) Addressee (iv) Referential function
Codes

(@ (b)) (o (@
(A) (@) (v) (1) (1)
B) @ @ (@) (iv)
Q) (o) @) () (1)
O @& @) (@) (iv)

18. Assertion (A) : Gapping is a process of ellipsis whereby a morpheme is dropped to
avoid repetition.

Reason (R) : Gapping is so called because it leaves a gap in the middle of a sentence.
(A) Both (A) and (R) are true (B) (A) is true, but (R) is false
(C) Both (A) and (R) are false (D) (A) is false, but (R) is true

19. Select the correct sequence according to the development of grammars :

A traditional grammar - structural grammar - transformational grammar - universal
& & &
grammar

(B) universal grammar - traditional grammar - transformational grammar - structural
grammar

(C) structural grammar - traditional grammar - transformational grammar - universal
grammar

(D) transformational grammar - traditional grammar - universal grammar - structural
grammar

20. Status planning means :

(A) script reforms to fit modern technology

(B) spelling reforms for the standard language
(C) expression of lexical domain
(D) determination of the official language
21. In the word children the plural allomorph is :
(A) Phonologically conditioned (B) Morphologically conditioned
(C) Lexically conditioned (D) Semantically conditioned

J—3108 10
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gEi-1 GeAI-11
(a) e (i) T o g
b) T (i) YETHeR TR
(c) e (ili)  HTSTcHE YR
(d) Geifem =t (iv) HRTHE FHR
g

(@ B (© @
A) (i) (iv) () (i)

(i) (@) () (iv)
(iv) (i) (i) (i)
G) (i) (i) (iv)

~—"

(

(B
(C
(

Sa

18. 3ifehed (A): T 1R o1 ufpan ® foed ggfa & o= & fod sfm &1 g1 fean

Sk
qeh (R): B2 T saferd searn § i a8 a9 & 1 fh T 8 <t B
(A) (A) 3R (R) T W&l € (B) (A)F& ¥ T (R) T B
(C) (A) 3R (R) i TTera T | (D) (A) 7o € T (R) T2

19. SAHIU-HIST o IR & T 3THH Hl =7 hifad |
(A) IRURe AR - HEATHE TR — TGRSR — HHH TR
(B) HEHTH STHIUN — qRUREh AR — TEAIAROTILR TR — FLATHE STHI0
(C) TS AR — JRYRER TR — TGRSR — HHH TR
(D) THAIAOTeh ST — YRYTh SR — FeHTHT R0 — FILATCHE SThI0

20. ‘feofq feeH 1A ©
(A) =TYfTe GrENfent & Wy 9 faft gur
(B) WY % HIeh €Y o foTq o7fard o Gum
(C) TS Rl <hIei ST
(D) ot T 1 ST T 9 < T i

21. children 39 ¥/ H Sga=A Uodd ¢
(A) TR § fauifa 2 (B) Uy ¥ frwifd ¥
(C) s o & fwifid 2 (D) 1o afereem & fawifid 2
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22.

23.

24.

25.

26.

Assertion (A) : The Neogrammarian Hypothesis claims that sound change is regular.
Reason (R) : Which of the following reasons for (A) is incorrect ?

(A) Sound change affects the entire language

(B) There are no exceptions to sound change

(C) Sound change spreads from word to word gradually

(D) Sound change is rapid

Select the correct sequence moving from a smaller to a larger phenomenon :
(A) dialect - language - idiolect (B) idiolect - language - dialect
(C) dialect - idiolect - language (D) idiolect - dialect - language

Which of the following pairs is not correctly matched ?

(A) A word takes a more general meaning than before - Semantic Broadening

(B) A word comes to be used in rare contexts - Lexical diffusion

(C) Ditferent geographical regions have different words to represent a concept -
Lexical Variation

(D) Inflectional affixes tend to be lost in a language - Morphological change

Match the items in List-I with List-II on the basis of their relatedness and select the
correct answer from the codes given below :

List-1 List-11

(a) Applied linguistics (i) Language shift

(b) Language planning (i) Sex discrimination
() Languages in contact (iii) Language teaching
(d) Language and power (iv) Standardization

Codes :
(@ (b () @

&) ) () () i)
B) (i) () () (i)
© (o) i) (i) ()
D) @ (o) ) i)

Arrange the following items in a sequence of small to larger units and select the correct
answer :

(A) word - morpheme - sentence - phrase

(B) sentence - word - phrase - morpheme
(C) morpheme - word - phrase - sentence
(D) phrase - morpheme - sentence - word

J—3108 12



22.

23.

24.

25.

26.

JMIHT (A) : 7o AR WTered 1 el ! § o T e Fafid &9 9 2 51
qh (R): (A) & fod Frafafeaa & 9§ &F @1 SR 1o 82

(A) T afEdd gl 9T Rl e S S

(B) & URERA & S ITUAR T T

(C) & ufterda €i-i Srea-ufd-3rea T J&Iid B 2 |

(D) T gREd o1/ e B 7

Bl 9 et Reafd 1 3R ed g W1 3THH 1 = HIfIT |

(A) Siel - 9T - SAfdaie (B) SAfdHaICH — WTHT - St
(C) diicil- =Afheliedt — W (D) AfhaIel — dieft - T
Frefafea sier 8 9 o a1 wet gafed =&l €2

(A) reare foraieRtol - | Yl e sG] | 31 o

(B) vrex foret Hewl H w2 o § - wnfsgek fomon

(C) 3Taemon =i frefua #  fod fmt imiferss e & fist vreg 3 € - o faemo
(D) favufe goa o1 § FH B I Fafd Wl § - S Red

-1 H < we) 1 G-I < A ok wre gafed st o) T fod el J | Wl S A =
ST |

gen-1 -1
(a) STIIIH *T-fem (i) o for
(b) T TS (i) T fave
(c) W HPeh (iif) o TRreror
(d) iR ufe (iv) HRIRTO

(@ M () @
) @) () (iv) (i)
i) () () (i)
(iv) (i) (i) (i)
D) @) (o) (@) (i)
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27.

28.

29.

30.

31.

Select the correct sequence, following the order sound to meaning :
(A) morphology - phonology - semantics - syntax

(B) phonology - morphology - syntax - semantics
(C) syntax - morphology - phonology - semantics
(

)
D) semantics - phonology - syntax - morphology

Assertion (A) : Sound Laws have no exceptions.

Reason (R) : Verner’s Law is a sound law, which shows exceptions to Grimm’s
Law.

A) (A) is true, (R) is false
B) Both (A) and (R) are true
Both (A) and (R) are false
(A) is false, (R) is true

A pidgin becomes a creole when :

(A) it becomes a language of education

B) it become the language of governance

it becomes the mother-tongue of the relevant speech-community

it becomes the language of the elite

Choose the correct sequence representing the vowel changes that occurred during the
‘Great Vowel Shift (1400 - 1600 C.E.) :

(A) e:>E:>i:>ai (B) i:>ai>i:>e:

(C) ai>i:>e:>E: (D) E:>e:>i:>ai

Assertion (A) : Analogy makes the irregular paradigm regular.
Reason (R) : By making the paradigm regular, it becomes irregular.
(A) (A)is true, (R) is false

B) (A) is false, (R) is true

Both (A) and (R) are true

Both (A) and (R) are false

J—3108 14



27.

28.

29.

30.

31.

e § 1Y - TH HH 1 STTE L T Fal FATHH 1 I it |
(A) TUIIH - Wil - steifoq™ - aeRfaR™

(B) WfHfaM - ®ufadM - areRfas™ - sredfamm

(C) oM - RN - e - sfeifamm

(D) oA - T AfeR - AR - TR

AfeRe™ (A) : A Framil & e1vare T 8 2

qeh (R): aR-Frag wH fem g, < fig-fram & stvene wega e 2
A) (A) T, (R) T T

B) (A)d (R) < w&t ¥ |

C) (A) 3™ (R) SHI TTerd €1

D) (A) 7o ¥, (R) W&t €1

forett e =1 ‘fufsm’ w9 ‘ fopiiet” sheet T © i
A) 9% f1&n i1 Hiegw 99 Sy

B) o% WEIEH T HIEAH oF WY

C) SHP OGR! SHHYSHE i HIg 991 99 Wl §
D) g HYid St &t o S S §

T T IRGM (1400 - 1600 C.E.) % v # fo4 e # =R afRadq gan sud wefuq w&t
ITHH 1 =T IS
(A) e:>E:>i:>ai B) i:>ai>i:>e:

(C) ai>i:>e:>E: (D) E:>e:>i:>ai

AMIReA (A) : TGy Tfafaa wureet i fafad &ar g1
Tk (R): 39 Fafnd 0 4 e ifafaa & s 21
A) (A) T %, (R) Terd

B) (A) e T, (R) W& |

C) (A) T (R) S w&t € |

(
(
(
(D) (A) M (R) <M1 TTerd €

J—3108 15 P.T.O.



32.

33.

34.

35.

36.

37.

By the expression parameter we mean :

(A) The notion that enables the linguist to formulate rules regarding language
classification

(B) The common principles that all the languages of the world share
(C) The limited number of ways in which languages differ from each other

(D) The notion that enables the linguist to measure differences in terms of structure

The term gutturals is used to refer to the class of :
(A) wuvular, pharyngeal and glottal consonants
(B) dental, alveolar and palatal consonants
(C

(D

) bilabial, retroflex and velar consonants

) palatal, velar and glottal consonants

Choose the correct option. Chomsky’s theory developed in the following sequence :
(A) Standard Theory - GB Theory - Extended Standard Theory - Minimalism

(B) GB Theory - Standard Theory - Extended Standard Theory - Minimalism

(C) Standard Theory - Extended Standard Theory - GB Theory - Minimalism
(D) Extended Standard Theory - GB Theory - Standard Theory - Minimalism
Saussure identifies two types of relations between signs :

(A) Associative and syntagmatic (B) Primary and Secondary

(C) Logical and Arbitrary (D) Syntagmatic and Paradigmatic

The term ‘double articulation” refers to :
(A) predictive capacity of language
B) displacement

repetitive pronunciation

duality of patterning in language design

According to D-Structure hypothesis meaning and syntactic form are related as
follows :

(A) Meaning - Semantic rules - D-structure - Transformations - S-structure
B) Meaning - Transformations - D-structure - Semantic rules - S-structure
Meaning - D-structure - Semantic rules - Transformations - S-structure

Meaning - Semantic rules - Transformations - D-structure - S-structure
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32.

33.

34.

35.

36.

37.

Yt/ et o1 e ®

(A) Hmon fSrent Tem@d ¥ sy, el % orfieor % fram freifd o §
(B) WM fagT S 9& e % foe e §

(C) T3l i F=IaT shl ST T aTel Hidu STHR

(D) WIS ki HL=ATHe TH=rdiet o |19 § 9 STER

‘Fhaa’ wafEl | aed €

A)  AfAfTEE, T9 3R TAEgRT e
B) T, 9 IR AT e

C) 3w, gH=I iR ke At
D) dIoisd, eRehad 3R YaEgRIA s

(
(
(
(

et @1 fagra o9 o1 7Ha ¥ famfaa gan Sud defua Wl faswey &1 == Sifaq |
(A) W fagia - IfueR iR ssE fagia - fawaia ame fagia - =AamaR
(B) IR iR s1seM fagia - wHe fagia - fowaia e fagia - =HawarR
(C) Wk fagia - fowafia A fagia - AfueR &R eigdeA fagia - =HamaR
(D) foreiia #reh fagid - SAferpr SiR STgeieM fagid - Ae ol - =FAawars
TR % STTIR Hohdl o o9 & YR & HoiY 4 ¥ -

(A) TEEN iR fa=mashares (B) H&A AR IO

(C) THhET IR g (D) farasharcas iR Eureel Hedh

fggemeTe stfyeafs’ o e € -
(A) T T AfeAtd wHed

(B) foreemq

(C) sfarers IR

(D) o & feseA # stfvem 5a

(T HEAT WeReT T o TR 21 3R a1 Y 579 B0 § Heiftd € SHeRl 99 i
(A) =19 - 3nelt fm - (&) HEEAT - AR - () =

(B) 31 - TR0 - () WL - 3neff fee - =) W

(C) 31 - TI(FA) FTEAT - et Fm - WA - () |

(D) 31ef - ameff o — AR - (") WAl - =1(F) G
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38. Contextual meaning can be arrived at by adding up various components in the following
sequence :

(A) Syntactic form - Logical form - Inference - Context

(B) Logical form - Inference - Syntactic form - Context
(C) Syntactic form - Logical form - Context - Inference
(D) Syntactic form - Context - Logical form - Inference

39. Tick the sentence that is true :
(A) Low-frequency content words yield more paraphasias than high-frequency words
(B) High-frequency content words yield more paraphasias than low-frequency words

(C) High-frequency functional words yield more paraphasias than low-frequency
functional words

(D) Low-frequency functional words yield more paraphasias than high-frequency
functional words

40. Identify the odd item from the following list :
(A) Velum (B) Hard Palate

(C) Tongue (D) Alveolar ridge

41. Match the items in List-I with List-II and select the correct answer from the codes given

below :

List-1 List-1I
(a) Communicative competence (i)  William Lobov
(b)  Verbal Defect Hypothesis (i) Charles Ferguson
(c) Diglossia (iii) Basil Bernstein
(d) Social motivation of sound change (iv) Dell Hymes

Codes :
(@ () () @)

(A) (o) (i) (@) (1)
®) @ @) (@) (iv)
Q) @) @) () (1)
D) @) (v) @) @)

42. Synchronic and diachronic distinction was originally proposed by :
(A) L. Bloomfield (B) Hermann Paul
(C) Ferdinand de Saussure (D) Wilhelm Van Humboldt
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38.

39.

40.

41.

42.

Hicfie 272 o HURE el & T STIHA H 91 HIT
(A) TR €9 - dMicheh &9 - T - dad

(B) ifeheh &9 - ST - JTRAT €Y - Had

(C) IITRITd &Y - difcheh ®9 - HeY - Fgfufq

(D) SITRITd &Y - HeH - difcheh &9 - T

Frefafead § 9 @& 1 ==F s

(A) THH ST O - VRl Y AR 3TedT < Yeal | ST AT 8 ¥ |

(B) et STl qvd Yeal W KA AN ¥ SART Y ST a9 B ¥ |

(C) Aty STadHT YT Wl ¥ HH ST YehraicHeh Yeal | AR WEFTHE 81 € |
(D) TH ST TR Tsal ¥ 31fHh STed=t YehraicHe: Ieal | ST TErTHe 81 ¢ |

=1 ¥ 9 fog7Ta Ug &l g |
(A) U3 (B) SR dIq] © & (D) o

T T IR f5dta 1 & A7 1 U9 e & AHR W fHem Hife |

gel-1 gei-11
(a) ST &THAT () fafeew o=
(b) TRATIE =LA TR (i) =CH EIEA
(c) wmfE fgunfemar (iii) T THTA
(d) THA-IREdA & qHfSe STt (iv) =9 BB

(@ B (© @
(iv) (i) (i) ()
B) (i) (i) (i) (iv)
Q) (i) (Gi) (iv) ()

) (i) (iv) () (i)

Z

g

(
(
(
(

‘ThepIeTR’ SR ‘HTeThie H A i URON I Heid: Ffqaied i arel fage &
(A) T TARCS (B) &HA I
(C) T T T (D) Taeeen & grailed
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43.

44.

45.

46.

47.

Code-switching is :
(A) intra-sentential (B) inter-sentential

(C) code-mixing (D) borrowing

Match the items in List-I with List-II and select the correct order from the codes given
below :

List-1 List-11
(a) Loss of medial vowel (i)  Anaptyxis
(b) Addition of a sound word initially (i) Syncope
(c) Addition of a sound word medially (iii) Metathesis
(d) Transposition of sounds in a word (iv) Prothesis

Codes :
(@ (b)) () @

(A) (@) (i) (i) (i)

B) (@) (i) @) (i)

Q) (v (@) @) @)

D) @) ) (i) (iv)

Assertion (A) : Sociolinguistics is the study of language in relation to society and
culture.

Reason (R) : Communicative competence and ethnography of communication

which belong to sociolinguistics are similar notions.

(A) Both (A) and (R) are true

(B) (A) is true, (R) is false

(C) (A) is false, (R) is true

(D) Both (A) and (R) are false

The concept of ‘langue’ and “parole’ is associated with :

(A) Del Hymes (B) Edward Sapir
(C) Ferdinand de Saussure (D) N. Chomsky

Select the correct order of the following concepts according to their appearance in the
history of the linguistics :

(A) PS Grammar, IC Analysis, Transformational Rules, D-structure and S-structure

(B)  D-structure and S-structure, IC Analysis, PS Grammar, Transformational Rules
(C) IC Analysis, PS Grammar, Transformational Rules, D-structure and S-structure
(D) Transformational Rules, IC Analysis, D-structure and S-structure, PS Grammar
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43.

44.

45.

46.

47.

HIE-TRE :
(A) @1 % iR B arelt 36 § (B) < SRl & e B arelt R ¥
(C) re fagm g (D) SRE-Tha |

ger| =t a0 fgdta e & Al o e e g 7 e wifs

gei-1 )
(a) eI W A A () TR-9fE
(b) RIS H wH-AISH (i) FA-TUAT
(c) Y= H WA-IeH (iii) fao=
d) = ¥ EA-farE (iv) effeifed
&< :

(@ b)) () (@
(A) @) (@) (o) (1)
(B) @) (iv) (@) (i)
©) (iv) (@) (@) ()
(D) &) @) (@) (o)

>

AR (A) : TN AT o Taid 7o b1 TS 91 UEh{d ¥ Heiy Fef¥id 2an 7|

Teh (R) :  SHTOTHE &A1 e Y90 I I ST S HHS Sr-fo™ % S ¥,
S SAFEROTE ¥ |

(A) (A) TN (R) T T2 €

(B) (A) W& ¥, (R) T g

(C) (A) e ¥, (R) T €1

(D) (A) M (R) <M TTerd €

* T’ 3R ¢ uTI-=eRR | it aRens & giquesd o
(A) =9 T (B) TedE UK
(C) ARk 3 w&=R (D) . =t

T STaaRometl &l 3k oo o SfaRme § JRdIehiol o STYR W §&l 9 U

(A)  TSEH-GTEAT SR, GHI-5eeh fageivo), ®=Ru-fm, T1-H= 1 a0 9-FEH
(B) TI-HTEH 91 9-GHLAT, HHII-1eh foreeivvl, uge-e—dTaml samenul, ®q=Ro-f=m
(C) HHII-=1eeh foveiwul, USeY—HT=AT SATR, ®URU-TTEM, -G q91 9-H=A
(D) ®URU-T1aH, HHdi-sesh fageiwu), T-HEA1 qe0 d-H0EH ], Iee-E-HTEml AR

~"
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48. In the prediction of a nasalized sound, the air passes through :
(A) the nasal cavity alone
(B) the oral cavity alone
(C) both the oral and the nasal cavity
(

D) first the nasal and then the oral cavity

49. An empty morph has :
(A) meaning but no form (B) form and meaning

(C©) no form, no meaning (D) form but no meaning

50. Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-I List-11
a) Regularity Hypothesis i)  Basil Bernstein
)

c) Innateness Hypothesis

(

Verbal Deficit Hypothesis (i) Noam Chomsky
(iii) Stephen Abney
(

d) DP Hypothesis iv) Brugmann and Osthoff
Codes :
(@ ((b) (o (@
A) (@) (i) (iv) (i)
B) () (1) (i) (i)
o @ @ @) (iv)
D) (v) (i) (1) (i)

-00o0-
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48. STATHHIRA/ TARRS eaf % SR H 91 sl Fsherd! © :
(A) haa Trgent faaX |
(B) “had H@ faax |
(C) @ faar IR ifaer faer S &
(D) Tea ifgent faer ¥ ik ae # gu fam @

49. /9™ €9 # :
(A) 319 a1 T, TR TE (B) ®uihfa 31X a1ef, I A ¥
(C) ¥ EUTHIT Bt §, 7 o7k (D) &R Bl &, 272 &

50. WUH e Al Hal I Tgdta G 1 Al 9 e St @ik = < 1 Seha-g= 9§ 99 i 8T
w2 faem &1 fdw s

o gt foeitr =it
(a) Trafadn grered (i) o IR (Basil Bernstein)
(b) TRATTE—=LAaT YT (i) A AR (Noam Chomsky)
(c)  SAaSiiad Urered (i) T Te (Stephen Abney)
(d) TIuies vesy geRea (iv) FHF IR % (Brugmann and Osthoff)
Tahd el :

@ @ ( @
(i) (i) (iv) (i)

B) (o) (1) (i) (iii)
@ @) (i) (iv)
(iv) (i) (1) (i)

~~ o~ o~ o~
N >
N—" ~—

S

-00o0-
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Space For Rough Work



